Stat 1040 Recitation 3 Solutions

1. Scores on a math test follow the nermal curve with average of 75 and an SD of 10.

(a) What percentage of the children scored between 80 and 857
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(b) If my daughter is at the 95th percentile, what is her score? S0 'Q-Qd’\ Pﬁd' !
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(c) If my daughter’s friend scored 90, what percentage of children scored Higher than my
daughter’s friend?

A " ' e
(b Go0-7 Y S
’ Y"-‘ « - !I ‘5/ s
18 rer T

o6kl 87%
So thare s 132 i bgﬂn Feals

50 0ach f‘a"’ ¢ anowt .55

———




2. The Ieligths of 212 trout are measured. A histogram of their lengths follows the norral curve,
and the average length is 16.5 e¢m, with an SD of 4.8 cm.

(a) Estimate the percentage of these trout that are between 13.0 cmn and 16.0 cm in length.
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(b) Find a length such that about 80% of the trout are shorter than this length.
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3, The average size of Cache Valley homes that are currenﬂy- for sale is 2,600 square feet and

the SD is 1,000 square feet.

(a) Using the normal curve, estimate the percentage of these homes that are between 3,000

and 3,500 square feet.
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(b) Using the normal curve, estimate the 90th percentile of home size.
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4. In one of the early rounds of the winter olympics men’s 5000 meter speedskating competition, \
the average time is 6 minutes 31.6 seconds and the 8D is 10.9 seconds. . \
(a) Assuming that the times follow the normal curve, find the percentage of skiters who
would take longer than 40 seconds to finish the race.
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(b) Using the normal curve, find a skater’s time if 80% of the skaters take longer tﬁan him.
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) rve with an average of 497 and an SD of 115,

5. GRE scores are known to follow the normal cu

A graduate school program in English will admit only students whose GRE score is in the
top 30%. What is the lowest GRE score they will accept?
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6 A grocery store carries & variety of “on the vine” fomatoes with an average weight of 5.0
- ounges and an SD of 0.8 ounces. The weights of these tomatoes follow the norma.l curve.

(2) (6 pomts) What percentage of them would weigh more than 6.0 ounces?
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(b) (6 points) Estimate the 30th percentile of their weights.

-2 B

FFUM the ‘I‘U—E)I-Q_S W&GO/" == 55 D{noﬁ, we. u.)Ol.f\{“ the '\?\-ja-}“a

VQ!"SIGT\) sSo

- weght = (“5"5)( )+ 5.0 =4 50

Ibs also 0K to wse 2= 5 s6
eight-= (-:8)(:8) +5:0 = Kb ounces.

7. Which would be larger, the con-elatmn between helght and weight of &year—olds or the cor- -
relation between -height and. weight. $1.18-year-olds? Explain. -
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